Summer 2016 Summary Report

ORNEITA BURTON

	Course Sections	Enrolled Students	Responded Students	Response Rate
A	ECON 261 (W1): Principles of Microeconomics	33	6	18.18%
В	ECON 261 (W2): Principles of Microeconomics	33	13	39.39%
	Overall	66	19	28.79%

Desc	ribe the frequer	ncy of your instr	uctor's teaching	g procedures.					
The I	nstructor:								
	Hardly Ever	Occasionally	Sometimes	Frequently	Almost Always	Mean	Standard Deviation	Did Not Answer	Total Responses
Foun	nd ways to help	o students ans	wer their own	questions					
Α	0% (0)	0% (0)	16.67% (1)	16.67% (1)	66.67% (4)	4.5	0.76	0	6
В	7.69% (1)	0% (0)	7.69% (1)	30.77% (4)	53.85% (7)	4.23	1.12	0	13
Help	ed students to	interpret subj	ect matter fror	n diverse pers	pectives (e.g., different cultur	es, religi	ons, gende	rs, politica	ıl views)
Α	0% (0)	0% (0)	16.67% (1)	33.33% (2)	50% (3)	4.33	0.75	0	6
В	7.69% (1)	0% (0)	7.69% (1)	38.46% (5)	46.15% (6)	4.15	1.1	0	13
Enco	ouraged stude	nts to reflect o	n and evaluate	what they ha	ve learned				
Α	0% (0)	0% (0)	0% (0)	16.67% (1)	83.33% (5)	4.83	0.37	0	6
В	7.69% (1)	0% (0)	15.38% (2)	30.77% (4)	46.15% (6)	4.08	1.14	0	13
Dem	onstrated the	importance and	d significance	of the subject	matter				
Α	0% (0)	0% (0)	0% (0)	16.67% (1)	83.33% (5)	4.83	0.37	0	6
В	7.69% (1)	0% (0)	15.38% (2)	23.08% (3)	53.85% (7)	4.15	1.17	0	13
Form	ned teams or g	roups to facilit	ate learning						
Α	33.33% (2)	0% (0)	16.67% (1)	16.67% (1)	33.33% (2)	3.17	1.67	0	6
В	46.15% (6)	7.69% (1)	7.69% (1)	7.69% (1)	30.77% (4)	2.69	1.77	0	13

Describe the frequency of your instructor's teaching procedures.

The Instructor:

	Hardly Ever	Occasionally	Sometimes	Frequently	Almost Always	Mean	Standard Deviation	Did Not Answer	Total Responses
Made	e it clear how e	each topic fit in	to the course						
Α	0% (0)	0% (0)	0% (0)	33.33% (2)	66.67% (4)	4.67	0.47	0	6
В	7.69% (1)	0% (0)	23.08%	23.08% (3)	46.15% (6)	4	1.18	0	13
Prov	ided meaningf	ful feedback on	students' aca	demic perforn	nance				
Α	0% (0)	0% (0)	16.67% (1)	16.67% (1)	66.67% (4)	4.5	0.76	0	6
В	7.69% (1)	0% (0)	23.08% (3)	23.08% (3)	46.15% (6)	4	1.18	0	13
Stim	ulated student	ts to intellectua	l effort beyon	d that required	by most courses				
Α	0% (0)	0% (0)	0% (0)	66.67% (4)	33.33% (2)	4.33	0.47	0	6
В	7.69% (1)	0% (0)	30.77% (4)	7.69% (1)	53.85% (7)	4	1.24	0	13
Enco	ouraged stude	nts to use mult	iple resources	(e.g., Internet	, library holdings, outside exp	perts) to	improve und	derstandin	ıg
Α	0% (0)	0% (0)	0% (0)	50% (3)	50% (3)	4.5	0.5	0	6
В	7.69% (1)	0% (0)	15.38% (2)	30.77% (4)	46.15% (6)	4.08	1.14	0	13
Expla	ained course r	material clearly	and concisely	1					
Α	0% (0)	0% (0)	16.67% (1)	16.67% (1)	66.67% (4)	4.5	0.76	0	6
В	7.69% (1)	0% (0)	15.38% (2)	30.77% (4)	46.15% (6)	4.08	1.14	0	13

Describe the frequency of your instructor's teaching procedures.

The Instructor:

	Hardly Ever	Occasionally	Sometimes	Frequently	Almost Always	Mean	Standard Deviation	Did Not Answer	Total Responses				
Rela	Related course material to real life situations												
Α	0% (0)	0% (0)	16.67% (1)	33.33% (2)	50% (3)	4.33	0.75	0	6				

Describe the frequency of your instructor's teaching procedures.

The Instructor:

	Hardly Ever	Occasionally	Sometimes	Frequently	Almost Always	Mean	Standard Deviation	Did Not Answer	Total Respons
В	0% (0)	0% (0)	15.38% (2)	23.08% (3)	61.54% (8)	4.46	0.75	0	13
reat	ted opportunit	ies for student	s to apply cou	ırse content oı	utside the classroom				
A	0% (0)	0% (0)	33.33% (2)	0% (0)	66.67% (4)	4.33	0.94	0	6
В	0% (0)	0% (0)	30.77% (4)	15.38% (2)	53.85% (7)	4.23	0.89	0	13
ntro	duced stimula	ting ideas abo	ut the subject						
A	0% (0)	0% (0)	0% (0)	50% (3)	50% (3)	4.5	0.5	0	6
В	0% (0)	0% (0)	30.77% (4)	15.38% (2)	53.85% (7)	4.23	0.89	0	13
nvol	ved students i	in hands-on pr	ojects such as	research, cas	e studies, or real life activitie	s			
Α	16.67% (1)	0% (0)	16.67% (1)	16.67% (1)	50% (3)	3.83	1.46	0	6
В	0% (0)	15.38% (2)	15.38% (2)	23.08% (3)	46.15% (6)	4	1.11	0	13
nspi	red students t	o set and achie	eve goals whic	ch really challe	enged them				
Α	0% (0)	0% (0)	33.33% (2)	16.67% (1)	50% (3)	4.17	0.9	0	6
В	0% (0)	0% (0)	15.38% (2)	30.77% (4)	53.85% (7)	4.38	0.74	0	13
ske	d students to	share ideas an	d experiences	with others w	hose backgrounds and viewp	oints dif	fer from the	ir own	
A	0% (0)	33.33% (2)	0% (0)	16.67% (1)	50% (3)	3.83	1.34	0	6
В	0% (0)	0% (0)	38.46% (5)	15.38% (2)	46.15% (6)	4.08	0.92	0	13
ske	d students to	help each othe	r understand i	ideas or conce	epts				
4	0% (0)	33.33% (2)	0% (0)	16.67% (1)	50% (3)	3.83	1.34	0	6
В	0% (0)	15.38% (2)	23.08% (3)	15.38% (2)	46.15% (6)	3.92	1.14	0	13
ave	projects, test	s, or assignme	nts that requi	red original or	creative thinking				
A	0% (0)	0% (0)	0% (0)	33.33% (2)	66.67% (4)	4.67	0.47	0	6

Describe the frequency of your instructor's teaching procedures.

The Instructor:

	Hardly Ever	Occasionally	Sometimes	Frequently	Almost Always	Mean	Standard Deviation	Did Not Answer	Total Responses					
В	0% (0)	7.69% (1)	23.08% (3)	15.38% (2)	53.85% (7)	4.15	1.03	0	13					
Enco	Encouraged student-faculty interaction outside of class (e.g., office visits, phone calls, email)													
Α	0% (0)	0% (0)	16.67% (1)	33.33% (2)	50% (3)	4.33	0.75	0	6					
В	7.69% (1)	0% (0)	23.08% (3)	23.08% (3)	46.15% (6)	4	1.18	0	13					

Describe your pro	gress on:							
No Apparent Progress	Slight Progress	Moderate Progress	Substantial Progress	Exceptional Progress	Mea	Standard In Deviation	Did Not Answer	Total Responses
Gaining a basic	understanding	of the subject	(e.g., factual kn	owledge, methods, pri	nciples, gene	ralizations, th	neories)	
A 0% (0)	0% (0)	16.67% (1)	33.33% (2)	50% (3)	4.33	0.75	0	6
B 0% (0)	0% (0)	23.08% (3)	30.77% (4)	46.15% (6)	4.23	0.8	0	13
Developing know	vledge and und	derstanding of	diverse perspe	ctives, global awarenes	s, or other cu	ultures		
A 0% (0)	0% (0)	16.67% (1)	50% (3)	33.33% (2)	4.17	0.69	0	6
B 0% (0)	0% (0)	23.08% (3)	30.77% (4)	46.15% (6)	4.23	0.8	0	13
Learning to appl	y course mater	rial (to improve	thinking, probl	em solving, and decisi	ons)			
A 0% (0)	0% (0)	0% (0)	66.67% (4)	33.33% (2)	4.33	0.47	0	6
B 0% (0)	0% (0)	23.08% (3)	30.77% (4)	46.15% (6)	4.23	0.8	0	13
Developing spec	rific skills, com	petencies, and	points of view	needed by professiona	als in the field	most closely	/ related to	this
A 0% (0)	0% (0)	16.67% (1)	33.33% (2)	50% (3)	4.33	0.75	0	6
B 0% (0)	0% (0)	23.08% (3)	23.08% (3)	53.85% (7)	4.31	0.82	0	13
Acquiring skills	in working with	others as a m	ember of a tear	n				
A 50% (3)	0% (0)	0% (0)	16.67% (1)	33.33% (2)	2.83	1.86	0	6

Desc	ribe your progr	ess on:								
	No Apparent Progress	Slight Progress	Moderate Progress	Substantial Progress	Exceptional Progress		Mean	Standard Deviation	Did Not Answer	Total Responses
В	7.69% (1)	15.38% (2)	15.38% (2)	23.08% (3)	38.46% (5)		3.69	1.32	0	13
Deve	eloping creativ	e capacities (inventing; des	igning; writing	; performing in art, mu	usic, dram	a, etc.)			
Α	33.33% (2)	33.33% (2)	16.67% (1)	0% (0)	16.67% (1)		2.33	1.37	0	6
В	0% (0)	15.38% (2)	0% (0)	38.46% (5)	46.15% (6)		4.15	1.03	0	13
Gain	ing a broader	understandin	g and apprecia	ntion of intellec	tual/cultural activity (music, sci	ence, li	terature, etc	c.)	
Α	0% (0)	16.67% (1)	50% (3)	16.67% (1)	16.67% (1)		3.33	0.94	0	6
В	0% (0)	7.69% (1)	7.69% (1)	38.46% (5)	46.15% (6)		4.23	0.89	0	13
Deve	eloping skill in	expressing m	nyself orally or	in writing						
Α	0% (0)	16.67% (1)	16.67% (1)	33.33% (2)	33.33% (2)		3.83	1.07	0	6
В	0% (0)	7.69% (1)	0% (0)	38.46% (5)	53.85% (7)		4.38	0.84	0	13
Lear	ning how to fi	nd, evaluate, a	and use resour	ces to explore	a topic in depth					
Α	0% (0)	0% (0)	16.67% (1)	33.33% (2)	50% (3)		4.33	0.75	0	6
В	0% (0)	7.69% (1)	7.69% (1)	38.46% (5)	46.15% (6)		4.23	0.89	0	13
Deve	eloping ethical	reasoning an	d/or ethical de	cision making						
Α	0% (0)	0% (0)	50% (3)	16.67% (1)	33.33% (2)		3.83	0.9	0	6
В	0% (0)	7.69% (1)	15.38% (2)	30.77% (4)	46.15% (6)		4.15	0.95	0	13
Lear	ning to <i>analyz</i>	e and <i>criticall</i>	y evaluate idea	as, arguments,	and points of view					
Α	0% (0)	0% (0)	33.33% (2)	33.33% (2)	33.33% (2)		4	0.82	0	6
В	0% (0)	7.69% (1)	15.38% (2)	30.77% (4)	46.15% (6)		4.15	0.95	0	13
Lear	ning to apply	knowledge an	d skills to ben	efit others or s	erve the public good					
Α	0% (0)	0% (0)	33.33% (2)	33.33% (2)	33.33% (2)		4	0.82	0	6
В	0% (0)	7.69% (1)	15.38% (2)	23.08% (3)	53.85% (7)		4.23	0.97	0	13

						Summer 2016 Sumr	nary Report -	Orneita Burl	ton - 2/16/20
Desc	ribe your progr	ress on:							
	No Apparent Progress	Slight Progress	Moderate Progress	Substantial Progress	Exceptional Progress	Mean	Standard Deviation	Did Not Answer	Total Respons
_ear	ning appropri	ate methods fo	or collecting, a	nalyzing, and i	interpreting numerica	al information			
Α	0% (0)	16.67% (1)	33.33% (2)	16.67% (1)	33.33% (2)	3.67	1.11	0	6
В	0% (0)	7.69% (1)	15.38% (2)	23.08% (3)	53.85% (7)	4.23	0.97	0	13
	Course:	ms. compare thi	s course with o	thers vou have	taken at this institution	ı			
	Much Less than Most Courses	Less than Most Courses	About Average	More than Most Courses	Much More than Most Courses	Mean	Standard Deviation	Did Not Answer	Total Respons
Amo	unt of course	work							
Α	0% (0)	0% (0)	83.33% (5)	16.67% (1)	0% (0)	3.17	0.37	0	6
В	0% (0)	0% (0)	53.85% (7)	30.77% (4)	15.38% (2)	3.62	0.74	0	13
Diffic	culty of subject	ct matter							
Α	0% (0)	0% (0)	66.67% (4)	33.33% (2)	0% (0)	3.33	0.47	0	6
В	7.69% (1)	0% (0)	53.85% (7)	30.77% (4)	7.69% (1)	3.31	0.91	0	13
For tl	he following ite	ms, choose the	option that bes	t corresponds t	o your judgment.				
	Definitely False	More False than True	In Between	More True than False	Definitely True	Mean	Standard Deviation	Did Not Answer	Total Respons
As a	rule, I put for	th more effort t	than other stud	lents on acad	emic work.				
Α	0% (0)	16.67% (1)	16.67% (1)	50% (3)	16.67% (1)	3.67	0.94	0	6
В	0% (0)	7.69% (1)	30.77% (4)	46.15% (6)	15.38% (2)	3.69	0.82	0	13
l real	lly wanted to t	take this cours	e regardless o	f who taught i	t.				
Α	16.67% (1)	16.67% (1)	33.33% (2)	33.33% (2)	0% (0)	2.83	1.07	0	6
В	0%	23.08%	30.77%	30.77%	15.38%	3.38	1	0	13

(3)

(4)

When this course began I believed I could master its content.

(4)

(2)

(0)

For ti	ne following itei	ms, choose the	option that bes	t corresponds t	o your judgment.				
	Definitely False	More False than True	In Between	More True than False	Definitely True	Mean	Standard Deviation	Did Not Answer	Total Response
Α	0% (0)	16.67% (1)	0% (0)	66.67% (4)	16.67% (1)	3.83	0.9	0	6
В	0% (0)	0% (0)	30.77% (4)	46.15% (6)	23.08% (3)	3.92	0.73	0	13
My b	ackground pro	epared me wel	l for this cours	e's requireme	nts.				
Α	16.67% (1)	0% (0)	33.33% (2)	16.67% (1)	33.33% (2)	3.5	1.38	0	6
В	0% (0)	7.69% (1)	30.77% (4)	38.46% (5)	23.08% (3)	3.77	0.89	0	13
Over	all, I rate this i	instructor an e	xcellent teach	er.					
Α	0% (0)	0% (0)	0% (0)	16.67% (1)	83.33% (5)	4.83	0.37	0	6
В	0% (0)	0% (0)	23.08% (3)	30.77% (4)	46.15% (6)	4.23	0.8	0	13
Over	all, I rate this	course as exce	ellent.						
Α	0% (0)	0% (0)	16.67% (1)	33.33% (2)	50% (3)	4.33	0.75	0	6
В	0% (0)	7.69% (1)	30.77% (4)	15.38% (2)	46.15% (6)	4	1.04	0	13

This	This course helped me better understand Christian beliefs and values to the content area of the course.													
	Strongly Disagree	Disagree	Neutral	Agree	Strongly Agree	Mean	Standard Deviation	Did Not Answer	Total Responses					
Α	0%	0%	0%	83.33%	16.67%	4.17	0.37	0	6					
	(0)	(0)	(0)	(5)	(1)									
В	0%	0%	38.46%	38.46%	23.08%	3.85	0.77	0	13					
	(0)	(0)	(5)	(5)	(3)									

This	This course helped me apply Christian beliefs and values to my life and work.													
	Strongly Disagree	Disagree	Neutral	Agree	Strongly Agree	Mear	Standard Deviation	Did Not Answer	Total Responses					
Α	0%	0%	16.67%	50%	33.33%	4.17	0.69	0	6					
	(0)	(0)	(1)	(3)	(2)									
В	0%	0%	30.77%	53.85%	15.38%	3.85	0.66	0	13					
	(0)	(0)	(4)	(7)	(2)									

In relating to students in the course, the instructor exhibited Christ-like character and conduct.

	Strongly Disagree	Disagree	Neutral	Agree	Strongly Agree	Mean	Standard Deviation	Did Not Answer	Total Responses
Α	0% (0)	0% (0)	16.67% (1)	33.33% (2)	50% (3)	4.33	0.75	0	6
В	0% (0)	0% (0)	15.38% (2)	30.77% (4)	53.85% (7)	4.38	0.74	0	13